COOKTOP AND BACKGUARD

RE20W




RE20W

CONTROL PANEL




RE20W

CHASSIS




RE20W

DOOR




RE20W

Guide | Part Number Description Quantity
6 | 295808 RSC |LOW PANEL-BACKGUARD 20", WHITE (480mm) 1
18 | 294467 RSC |20"/30" LOW PANEL-BACKGUARD END CAPS, WHITE (KIT) 1
24 | 295826 RSC |20" COOK TOP SUPPORT 1
25 | 291893 RSC [COOK TOP, PIVOT 2
27 924023  [TOP COIL FASTENING CLIP 4
31 914134  |2100W - 220V _TOP COIL, @8" 1
33 914133  |[1250W - 220V TOP COIL, @6" 3
45 024490 |PAN-SURFACE ELEMENT, CHROME, 8" 1
43 924491 PAN-SURFACE ELEMENT, CHROME, 6" 3
54 | 292380 RSC |20" COOK TOP, 4 TOP COILS, WHITE 1
29 | 291892 RSC |LIFTABLE COOK TOP SUPPORT 2
34 914336  [20"/30" PLUG-IN UNIT HARNESS, 4 TOP COILS, 220VAC 200°/ 200° C 1

150 | 292221 RSC [20" CONTROL PANEL, 4 TOP COILS, WHITE (2S) 1
137 | 292997 RSC |20" SWITCHES COVER, WITH SLOTS 1
129 024488 |THERMOSTAT E/R-27 275-3489-00 25Amp, 125/250 VAC-60Hz 1
128 914135  |[INFINITE SWITCH 1250-1500W 3
151 914136 |INFINITE SWITCH 2100-2600W 1
144 913212 |SCREW M4 - 0.7x8mm 10
138 914224  |RED PILOT LIGHT, WHITE 2
139 | 294571 RSC |INDIANA KNOB TYPE A, WHITE / INFINITE SWITCH 4
141 | 294673 RSC [INDIANA KNOB TYPE F, WHITE / ELECTRIC OVEN THERMOSTAT 20" 1
147 913518 FLAT WASHER #10 2
200 | 292288 RSC |TRS-20, 20" OVEN WRAPPER INSULATION ELEC. 1
204 | 292995 RSC |ANTI-TIP KIT 1
205 | 294465 RSC |20"/30" CABLE COVER 1
212 | 292468 RSC |20" BACK PANEL 1
208 | 292290 RSC |TRS-20, 20" OVEN BACK INSULATION 1
223 | 292971 RSC |REAR SHIELD 1
226 913407  [# 10-32 UNF 3/8" NUT 6
225 913516  |%" INTERNAL TOOTH WASHER 6
227 914279 TERMINAL BLOCK EJ-3G (A) ELEC.-TRON 1
277 | 292996 RSC |TERMINAL BLOCK BRACKET 1
221 | 294533 RSC [TUBE-OVEN VENT 1
222 | 294531 RSC [OVEN VENT, BASE 1
240 907100  [20"/30" UPPER BODY SIDE SUPPORT 2
244 | 294410 RSC [20"/ 30" BODY SIDE, WHITE 2
248 924403 |THERMO BULB CLIP 2
253 914285 |ELEMENT-BROIL, 2000W-220V 1
254 914286 |ELEMENT-BAKE, 1900W-220V 1
256 924520  [20" OVEN RACK 1
276 924413  [HINGE SUPPORT, OVEN DOOR 2
272 913068 SCREW M5-0.8x10mm 4
293 913006  [SCREW #10-16x1" 2
280 | 191131 RSC |LEVELING SCREW RANGE 2
284 | 294535 RSC |20"/30" LOWER BODY SIDE SUPPORT 2
288 | 294424 RSC |PBT, 20"/30" FRONT LEG, WHITE (KIT) 2




309 | 292278 RSC |DUMMY PANEL SUPPORT 2
310 | 292882 RSC |20", DUMMY PANEL, WHITE 1
400 924319  |20" GASKET, OVEN DOOR SEAL 984mm 1
410 | 292329 RAC {20" OVEN DOOR LINER, SOLID 1
420 924436  |20" OVEN DOOR HINGE, BLUE SPRING 2
430 | 293309 RSC |20", TRS-20 OVEN DOOR INSULATION, SOLID 1
440 | 293809 RSC |20" OVEN DOOR, WHITE, (SOLID), WITHOUT VENT, to PBT HANDLE 1
450 | 293090 RSC |20" INDIANA OVEN DOOR HANDLE, WHITE, PBT 1






